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QUESTION 1

What security role is required for you to create trusted-context objects? 

A. AAO 

B. DBSA 

C. DBSSO 

D. DBSECADM 

Correct Answer: D 

 

QUESTION 2

Role separation provides checks and balances to improve the security of your event-auditing procedures. Which two
roles must be associated with group IDs to enable role separation? (Choose two.) 

A. DBSEC: DB Security Officer 

B. AAO: Auditing Analysis Officer 

C. DBASO: DB Audit and Security Officer 

D. DBAMO: DB Audit Management Officer 

E. DBSSO: Database System Security Officer 

Correct Answer: BE 

 

QUESTION 3

To potentially reduce table extent interleaving, an Informix administrator would execute which storage optimization
operation? 

A. Shrink 

B. Repack 

C. Compress 

D. Defragment 

Correct Answer: D 

 

QUESTION 4

Which statement accurately describes the selective row-level auditing feature in Informix? 
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A. Auditing can be configured so that row-level events of only selected views are recorded in the audit trail. 

B. Auditing can be configured so that row-level events of only selected tables are recorded in the audit trail. 

C. Auditing can be configured so that events of only selected rows within a table are recorded in the audit trail. 

D. Auditing can be configured so that row-level events of only selected partitions are recorded in the audit trail. 

Correct Answer: B 

 

QUESTION 5

Click on the exhibit. Which type of join is occurring? 

A. Star Join 

B. ANSI Join 

C. Index Self-Join D. Multi Index Join 

Correct Answer: A 
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